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Productions and Semantic Rules for Tessellation Forms (Horizontal Derivation 1)

S C
X(H) =0 X(D) =X(C)
y(H) =0 D hif ~ YD) =¥(O)
H P C  x®) =x(C) _
0 width(S) = width(H) h-ov ¥(B) = y(C)+height(D)
height(S) = height(H
e1gnI(S) = height(rh B ne width(C) = max(width(D) ,width(B))
height(C) = height(D)+height(B)
H D
x(B) = x(A)
y(B) = y(A) x(Cell) = x(D)
B A X(A) = x(H)+width(B) y(Cell) = y(D)
Y(A) =y(H) |
O hir [nit © width(D) = WIDTH_cell
- width(H) = width(B)+width(A) h-ov height(D) = HEIGHT _cell
height(H) = max( height(B), height(A))
h-ovl
B
Ao X(B) = X(Ao)
y(B) =y(A) c
8 A | TR 0 ik
1 Y(A) = y(A, - YD) =yl
B o (Cell Jr—TH7 " C x®)=x0)
o : width(As) = width(B)+width(A.) h y(B) = y(C)+height(D)
height(A) = max( height(B), height(A.)) B oV - o)
widtl
B = max(width(D) ,width(B))
height(C) = height(D)+height(B)
A
X(B) = X(A) D
B Y(B) = y(A)
B—rr—1 width(A) = width(B) Cell x(Cell) = x(D)
hf[ h-f d t
height(A) = height(B) Cell e n e C v(Cell) = y(D)
h-o:[ width(D) = WIDTH_cell
height(D) = HEIGHT _cell
h-ovl
B B
X(C) = x(B)
C y(C) = y(B) c
Bm?—’Dh_” width(B) = width(C) X(D) = x(C)
height(B) = height(C) Colll— D ig 2 ))(/ég
f| it hoov y(B) = y(C)+height(D)
B width(C)
Bre—7 = max(width(D) width(B))
B height(C) = height(D)+height(B)
X(C) i X(B)
c c ¥(C) =y(B) D
Brrr U width(B) = width(C)
height(B) = height(C) Cell
X(Cell) = x(D)
(T T yCeh=yO
h-ov width(D) = WIDTH_cell
height(D) = HEIGHT _cell
B h»ovl
X(C) = x(B) B
c y(C) = y(B)
[ T C width(B) = width(C)

height(B) = height(C)




Productions and Semantic Rules for Tessellation Forms (Horizontal Derivation 2)

|£_eh|__||v Cell
B ° D h-ov
x(C) = x(B)
h-ov ¥(C) =y(B) o
-0V Cell) = x(D;
B C width(B) = width(C) m ;gczllg = ;ED;
b gl height(B) = height(C) Cell {1 C
h-'f BT bt [t ™ (D) = WIDTH_cell
h-ov height(D) = HEIGHT _cell
Cell oy,
B h-ov B
X(C) = x(B)
h-ov ¥(C) =y(B) Cell
C width(B) = width(C) C hov X(D) =x(©)
B {} C " = hei y(D) = y(C)
hif [ bt hedf [hf height(B) = height(C) D 4oV X®)=x©Q)
S el ¥(B) = y(C)+height(D)
h-ov width(C)
,ﬂl B = max(width(D) ,width(B))
€ B ?;W.D height(C) = height(D)+height(B)
B h-ov
X(C) = x(B)
h-ov| c y(C) = y(B) |:|Ce”
. width(B) = width(C) h-ov
= © height(B) = height(C) D
hf-ov Cell x(ge::) f X(g)
g e =IO
Cehll hov width(D) = WIDTH_cell
C -ov ng; = xg height(D) = HEIGHT _cell
y(D) =y
D ™oV i X®)=xC) h-ov
O C  y(B) = y(C)+height(D) B
h-ov width(C)
B ne = max(width(D) ,width(B))
height(C) = height(D)+height(B) @
C h-ov
x(g) = X(g)
Cell h-ov 5 Y¥(C) =y(D)
- . width(D) = width(C)
D > Ui C height(D) = height(C)
hf-ov X(Cell) = x(D)
L Cell o Ve
h-f- fh-If width(D) = WIDTH_cell Cell
h-ov height(D) = HEIGHT _cell
D h-ov
x(Cell) = x(D)
h-ov hf-ov y(Cell) = y(D)
B Cell L. C width(D) = WIDTH_cell
,ﬂl 0 h-f  |n-If height(D) = HEIGHT _cell
e
h-ov x(D) = x(C)
T N, B
X =X
Cell |t =Lt~ C  ¥(8) = (C)+height(D) [Cell]
h-t
h-ov width(C) c > ©) = x(D
B ne = max(width(D) width(B)) X(C) - X(D)
B——7 height(C) = height(D)+height(B) h-ov ¥(C) =y(D)
i 1D c width(D) = width(C)
Cell | e height(D) = height(C)




Productions and Semantic Rules for Tessellation Forms (Horizontal Derivation 3)

[Cell]

C
D h-ov
X(Cell) = x(D) X(D) = X(C)
o] i y(Cell) = y(D) [Cell] b y(0) =y(C)
,.1-e width(D) = WIDTH_cell T mr = 1r [ Width(C) = width(D)
hf | hfE T hef | helf height(D) = HEIGHT_cell height(C) = height(D)
Cell D
C h-ov
X(C) =x(D) x(Cell) = x(D)
hov ¥(©) =y(D) y(Cell) = y(D)
1
D width(D) = width(C) |Eh-lf wra [ C width(D) = WIDTH_cell
T e height(D) = height(C) height(D) = HEIGHT_cell
Cell C
D h-ov
x(Cell) = (D) (D) = X(C)
hf-ov ¥(Celh = y(D) D ¥(0) =y(C)
Cell width(D) = WIDTH_cell R | nif width(C) = width(D
] . ©) ©)
h-If | hfIf height(D) = HEIGHT _cell height(C) = height(D)
C D
X(D) = x(C)
D y0)=y(©) Cell x(ceh =x0)
ar e © Width(C) = width(D) hT”’ ht-If ’ ’
height(C) = height(D) width(D) = WIDTH_cell
height(D) = HEIGHT _cell
D S
x(Cell) = 0
y(Cell) =0
x(Cell) = x(D)
Cell y(Cell) = y(D) |:| width(S) = WIDTH_cell
DTW C WD) ~WIDTH_ el height(S) = HEIGHT _cell
height(D) = HEIGHT _cell




Productions and Semantic Rules for Tessellation Forms (vertical Derivation 1)

S C
x(V)=0
y(V)=0 xED; = xgg;
y(D) =y
|\:|/ width(S) = width(V) x(B) = x(C) + width(D)
height(S) = height(V) y(B) = y(C)
width(C) = width(D) + width(B)
height(C) = max( height(D), height(B) )
\Y
x(B) = x(V) D
B y(B) =y(V)
x&; - Xg; height(B)
3 Y(A) = y(V) + height x(Cell) = x(D)
VoV [ Cell ] -
A width(V) = max( width(B), width(A)) - . B y(Celh = (D)
height(V) = height(B) + height(A) v-If | veIf width(D) = WIDTH_cell
v-ov height(D) = HEIGHT _cell
B . V- ovl
Ao v X(B) = x(A) C
B 1™ XA x(A)
X(A1) = XI
t Y(A) = y(A) + height(®) Cell] B
V-0V V-0V 1sw
A width(As) = max( width(B), width(A,)) C
0 height(A.) = height(B) + height(A.) X(D) = X(C)
V-ov V-0V y(D) = y(c)
D B x(B) = x(C) + width(D)
7 ¥(B) =¥(C)
Bv-ov V-OV 4w width(C) = width(D) + width(B)
A height(C) = max( height(D), height(B) )
x(B) = x(A)
veov ¥(B) = y(A) o
BEI width(A) = width(B) C
height(A) = height(B)
Cell
D V-ov
B vf-ov
" - x(Cell) = x(D)
B " Cell y(Cel) = y(D)
X(C) = x(B) EJ—”’ - B
v-ov ¥(C) = y(B) VAtV width(D) = WIDTH_cell
C G (E) = width(A) v-ov height(D) = HEIGHT _cell
widtl = widtl
height(B) = height(A) ov
C
i [Cell] B
B c o X(D) =x(C)
V-ov X(C) = x(B) yD)=y(C)
c y(C) = y(B) v-ov v-ov] xggg = ng + width(D)
y(B) =y
1 width(B) = width(A) D B
height(B) = height(A) It width(C) = width(D) + width(B)
V-ov height(C) = max( height(D), height(B) )
V-0V
C Cell
D V-ov
B x(Cell) = x(D)
vf-ov y(Cell) = y(D)
x(C) = x(B)
C y(C) =y(B) Cell width(D) = WIDTH_cell
0(E) — st D5 B height(D) = HEIGHT cell
Wi = Wi
v-ov height(B) = height(A)
lV-OV




Productions and Semantic Rules for Tessellation Forms (vertical Derivation 2)

B
B 1V-OV D v-ov
y X(C) = x(B) vi-ov x(Cell) = x(D)
o c ¥(©) = y(E) ﬂm R
. e
\/-|f VAT width(B) = width(C) Sl I T VI [V width(D) = WIDTH_cell
height(B) = height(C) v-ov height(D) = HEIGHT _cell
V-0V
C
B
B v-ov Cell B
C V-0V lsw %) =X(C)
v-ov X(C) = X(B) yD)=y(C)
]C y(C) = y(B) v-ov V-0V XES; = XE(C:; + width(D)
\/TIf> v-If . - D B y(B) =y
width(B) = width(C)
v-ov height(B) = height(C) v S Widih(C) = width(D) + width(E)
height(C) = max( height(D), height(B) )
V-0V
C
Cell
B D V-0V
958 ol s
C ¥(©) = ¥! y(Cell) =y
it | Cell ] B
V*'f v-If width(B) = width(C) o IR VT width(D) = WIDTH_cell
V-0V height(B) = height(C) height(D) = HEIGHT _cell
v-ovl
c C
C X(D) = x(C)
X(D) = x(C) D y(D) = y(C)
D) = y(C e
iEB)’ = Z((C)) + width(D) VA width(C) = width(D)
mf. - y(B) = y(C) v-ov height(C) = height(D)
width(C) = width(D) + width(B) Vo
height(C) = max( height(D), height(B) ) 1
C
D
D x(Cell) = x(D)
I Cell y(Cell) = y(D)
x(Cell) = (D) -Ce —w ]
i Cell B y(Cell) = y(D) vAIf | VI \I:/iqtr;(?s): vﬂEI;Hm(—:e” \
Vv-ov eight = _cel
v} viIf vAf vt width(D) = WIDTH_cell
v-ov height(D) = HEIGHT _cell Tov
v-ovl C
C
Cell
C V-0V
v-ov (D) = X(C)
X(D) = X(C) D y(D) = y(C)
¥(0) =y(C) Cell | Vi
X(B) = x(C) + width(D) vt v ”v_ov width(C) = width(D)
e y(B) = y(C) height(C) = height(D)
width(C) = width(D) + width(B) oy
height(C) = max( height(D), height(B) )




Productions and Semantic Rules for Tessellation Forms (vertical Derivation 3)

Cell Cell
D v-ov C v-ov
vf-ov - v-ov _
Cell X(ge::) = X(g) D X(g) = X(g)
VT”’ — 4 y(Cell) = y(D) ) y(D) = y(C)
width(D) = WIDTH_cell width(C) = width(D)
v-ov height(D) = HEIGHT_cell v-ov height(C) = height(D)
v-ov v-ov
c C
[Cell] [Cell]
D V-0V
C VoV X(D) = X(C)
y(D) =y(C) oy (el = x(D)
X(Cell) = X
vov b Width(C) = width(D) 4 Cell y(Cell) = y(D)
height(C) = height(D)
rammnrmal width(D) = WIDTH_cell
v-ov height(D) = HEIGHT_cell
V-0V
C
Cell
D V-0V Cell
V-0V
viov x(Cell) = x(D) c
Cell y(Cell) = y(D) v-ov ©=x©)
- X(D) = x(C
A Width(D) = WIDTH_cell D YD) =4
height(D) = HEIGHT _cell O
width(C) = width(D)
height(C) = height(D)
C
x(D) = x(C)
D ¥(D) = () [Cell]
width(C) = width(D) D v-ov
v-ov height(C) = height(D)
vf-ov x(Cell) = x(D)
v»ovl H Cell y(Cell) = y(D)
width(D) = WIDTH_cell
height(D) = HEIGHT _cell
D
X(Cell) = x(D)
Cell y(Cell) =y(D)
width(D) = WIDTH_cell
V-0V height(D) = HEIGHT _cell
v»ovl




